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Ʊয Ʊকােনা ৫ িট Ĵেűর উóর দাও                                                                        ২×৫ = ১০ 

১। ন�ায় মেত, Ʊলৗিকক সিĨকষƳ কয় Ĵকার? 

  ক) ৪              খ) ৬                গ) ৮                          ঘ) ১০ 

২। পরামশƳজন�Ǐ  Ñানম অনুিমিত’ অনুিমিতর এই ল¢ণিট কার Ĵদó? 

  ক) Ʊগৗতম                  খ) অĨমভÛ                  গ) গে¿শ উপাধ�ায়                    ঘ) কণাদ 

৩। ‘পবƳত ধূমবান কারণ পবƳত বিƠমান’ – এই অনুমােন ‘পবƳত’ হল – 

  ক)  Ʊহতু                    খ) সাধ�                        গ) প¢                        ঘ) Ʊকােনািটই নয় 

৪। গĥü Ĵত�ে¢ Ʊকান সিĨকষƳ ব�বƞত হয়?  

  ক) সংেযাগ                   খ) সমবায়                      গ) সংযু� সমবায়                  ঘ) সংযু� সমেবত সমবায়    

৫। িনেচর Ʊকানিট Ĵাসি¿কতার Ʊদােষর মেধ� পের না? 

   ক) অÑতােহতুক যুি�           খ) অĴত�ািশত যুি�           গ) আেবগমূলক যুি�           ঘ) সত� কারণযু� যুি�  

৬। Ʊয মামলায় হত�াকারীর িবচার হয়, তােক কী ধরেনর মামলা বলা হয়? 

   ক) Ʊদওয়ািন              খ) Ʊফৗজদাির                  গ) Ʊদওয়ািন ও Ʊফৗজদাির                     ঘ) Ʊকােনািটই নয়  

৭। তুিম যিদ আমার কথা না Ʊশােনা তাহেল এপাড়ায় Ʊতামার থাকা হেব না। বুঝেত Ʊতা পারেছা িদনকাল, নীিত Ʊমেন 

Ʊতা িকছু হয় না, সুতরাং ওটা িনেয় Ʊভেবানা, যা বলিছ কের Ʊফেলা- 

   ক) লªেড় যুি�                 খ) Ʋনিতক অনুেমাদেনর যুি�               গ) ব�বহািরক যুি�          ঘ)  Ʊকােনািটই  নয় 
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Answer 5 questions only.                                                                                            )2×5( = 10 
 
 
1.  How many types of Loukika Sannikarsa are there according to Nyaya Philosophy? 
   a) Four types           b) Six types          c) Eight types              d) Ten types 
 
2. Who has defined anumiti as ‘Paramarsajanyam jnanam anumiti’? 
   a)  Gautam             b) Annambhata           c) Gangesa Upadhyaya            d) Kanada 
 
3.  ‘The hill is smoky because it is fiery.’— In this inference ‘hill’ is 
   a)  hetu            b) sadhya                 c) paksa              d) none of these. 
   
4. Which sannikarsa is used in the perceptions of  ‘Smellness’? 
   a) samyoga       b) samavaya        c) samyukta samavaya        d) samyukta samaveta samavaya. 
 
5. Which one of the following is not related  to Fallacy of  Relevance? 

   a) Argument from Ignorance                            b) Argument from Accident   

   c) Argument from Emotion                               d) Argument from True Cause 

6.  What kind of case is it in which murderer is judged? 
    a) Civil           b) Criminal            c)  Civil and Criminal           d) None of these 
 

7. If you don’t comply with my request, I am afraid, you won’t be able to stay in this locality. 
Time has changed a lot, I hope that you know it better than me; morality does not rule anywhere 
any more. So don’t think about that too much. So do what I say. 

a) Argument by threat                    b) Argument through Persuasion    

c) Practical Argument                      d) None of these   


